Solve each system by elimination.

18. {“‘“’:12 19_{x+2y=10

I—y: 2 x + y= 6
21. {4x+2y=4 2. {2w+ S5y = —24
'6I‘|“2y=8 3!1’—5}': 14
2, {x+3y= 11 9% {5.r+3y=3o
I+4y=14 3-t‘+3y= 18
z7.{3x+2y:6 28‘{5x~y=4
3.\'+3 ':y 21_}’"—'1

Solve each system by elimination.

4x — 6y = — 26 {93—3d— 3
30'{~2x+3y= 13 3. 3a+ d= -1
{2x—3y=6 3, {201+ 5y = 120
" lex -9y =9 10x + 7.5y = 80
2x — 3y = -1 {Sx—Zy— 19
. 37.
o5 {3x+4y= 8 2x +3y= 0
y=4-—x 3x +2y =10
2 40.
2 {3x+y=6 {6t+4y=15

20{3a+4b= 9
=3a—-2b= -3
23{3u+3v—15
—2u+ 3y = =3
26. {**14=“"
xX—y=2
29. {2l+s—3
4r =
2a + 3b =12
32'{5a— b =13
6x — 2y =11
35{ —9x + 3y =16
r+3s =
38.{2r_ .
Im + 4n = =13
s {5m+6n=-—]9



